L3 i & (A#L#&)
BHEE 1040 L3 Z |BEEA4THIEIRKAKERRISE (F02)
w=IEHIRMIE (F 5 rEETmELE4 THIENIHA
AfLBTE SF4FESH10H 0985304
B4 GRE) ML, ALEICREH SN EAL GRRE) M ¥ E Mg
LREICZLLRENI0H5DI0IZHKT S
BEEMELL-£8ET. ZFLOAWLBEERTH S, 11,039, 0914 12, 617, 000
15 H bR L Bl 4%
10, 035, 5384
% 10 % 2 [0 % 30
R EEE s
WEET (%) M
¥ R
(%) WETH/ M
¥ R
BIRGEIE (k) 11, 450, 000 =
) a<3IE 10, 037, 3970 =
(B) AHKEITE 10, 035, 6640 =
(%) BFFKE [ A
¥ R
RERELIE () A [
¥ R
(%) kA &) g
¥ R
(%) #RW 10, 035, 5380 =
% #l
() I UHEH A [
®
(%) SEEM A [
®
(%) &R 11, 350, 000 =
M =
M =




